)

e

8S. A circle C has centre D and equation

2teyte -8By +8=0.

(@) Find the coordinates of D and the radius of C. [3]
{b} Aline is drawn through the point P (4, 6) so that it tovches the circle C at the point T.
- {i} Show that PT = +/20.
(i} Find the equation of the ¢ircle centre P which passes through the point 7. [5]
o June 2006
96, Achcke C , wifhy centre A ias equation
: ey - 6x+8y—75=0.
£51

(@} Find the coordinates of A and the radius of C,.
{b) A second coele C, hes centre B (-6, 8) and radius 5.

(1) Show tharC, and C, touch.
() Given that the circles touch at the poimt P (-3, 4), find the equation of the common

tangent [7
Jan 2007
%7 Thecirdlex’® + %7 4 4x — 169 + 18 = 0 has centre A and radius r.
(z} Find the coordinaies of A and the valoe of 7. 3]

{t] Delney=gx + 2 and the cirele x” + v? + 4x - 18y + 18 = 0 intersect at the points B and C.

Find the coordinates of B and C. ' 4]
June 2007
$4. The circle C has cenire A and equation
L .3.'2+j,?2—--i;x+63.!— T2y,
2]

{2} Fmd the coordinates of A and the madins of €,

The pomnt P has eoordinates (5, 1) and lies on C. Find the equation of the tangent to Cat P.

(b)
4
{c) Thelime T Lasequation y=x <+ 3, Show that L and C do 1Ot fntersect. 4]
- Jan 2008
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